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NEW QUESTION 1
Wireless users are reporting intermittent internet connectivity. Connectivity is restored when the users disconnect and reconnect, utilizing the web authentication
process each time. The network administrator can see the devices connected to the APs at all times. Which of the following steps will MOST likelydetermine the
cause of the issue?

A. Verify the session time-out configuration on the captive portal settings

B. Check for encryption protocol mismatch on the client’s wireless settings

C. Confirm that a valid passphrase is being used during the web authentication
D. Investigate for a client’s disassociation caused by an evil twin AP

Answer: A

NEW QUESTION 2
A company hired a technician to find all the devices connected within a network. Which of the following software tools would BEST assist the technician in
completing this task?

A. IP scanner

B. Terminal emulator
C. NetFlow analyzer
D. Port scanner

Answer: A

NEW QUESTION 3
A network technician has multimode fiber optic cable available in an existing IDF. Which of the following Ethernet standards should the technician use to connect
the network switch to the existing fiber?

A. 10GBaseT
B. 1000BaseT
C. 1000BaseSX
D. 1000BaselLX

Answer: A

NEW QUESTION 4
Which of the following is used to track and document various types of known vulnerabilities?

A. CVE

B. Penetration testing
C. Zero-day

D. SIEM

E. Least privilege

Answer: A

NEW QUESTION 5
A corporation has a critical system that would cause unrecoverable damage to the brand if it was taken offline. Which of the following disaster recovery solutions
should the corporation implement?

A. Full backups
B. Load balancing
C. Hot site

D. Snapshots

Answer: C

NEW QUESTION 6
A customer wants to segregate the traffic between guests on a hypervisor. Which of the following does a technician need to configure to meet the requirement?

A. Virtual switches
B. OSPF routing
C. Load balancers
D. NIC teaming

E. Fibre Channel

Answer: A

NEW QUESTION 7
A firewall administrator is implementing a rule that directs HTTP traffic to an internal server listening on a non-standard socket Which of the following types of rules
is the administrator implementing?

A. NAT
B. PAT
C.STP
D. SNAT
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E. ARP

Answer: D

NEW QUESTION 8
The following configuration is applied to a DHCP server connected to a VPNconcentrator:

There are 300 non-concurrent sales representatives who log in for one hour a day to upload reports, and 252 of these representatives are able to connect to the
VPN without any Issues. The remaining sales representatives cannot connect tothe VPN over the course of the day. Which of the following can be done to resolve
the issue without utilizing additional resources?

A. Decrease the lease duration

B. Reboot the DHCP server

C. Install a new VPN concentrator
D. Configure a new router

Answer: A

NEW QUESTION 9
A technician is writing documentation regarding a company’s server farm. The technician needs to confirm the server name for all Linux servers. Which of the
following commands should the technician run?

A. ipconfig
B. nslookup
C.arp

D. route

Answer: B

NEW QUESTION 10
Which of the following would be BEST to use to detect a MAC spoofing attack?

A. Internet Control MessageProtocol
B. Reverse Address Resolution Protocol
C. Dynamic Host Configuration Protocol
D. Internet Message Access Protocol

Answer: B

NEW QUESTION 10

Which of the following transceiver types can support up to 40Gbps?
A. SFP+

B. QSFP+

C. QSFP

D. SFP

Answer: B

NEW QUESTION 11
A small, family-run business uses a single SOHO router to provide Internet and WiFi to its employees At the start of a new week, employees come in and find their
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usual WiFi network is no longer available, and there is a new wireless network to which they cannot connect. Given that information, which of the following should
have been done to avoid this situation’

A. The device firmware should have been kept current.
B. Unsecure protocols should have been disabled.

C. Parental controls should have been enabled

D. The default credentials should have been changed

Answer: A

NEW QUESTION 15

A technician receives feedback that some users are experiencing high amounts of jitter while using the wireless network. While troubleshooting the network, the
technician uses the ping command with the IP address of the default gateway and verifies large variations in latency. The technician thinks the issue may be
interference from other networks and non-802.11 devices. Which of the following tools should the technician use to troubleshoot the issue?

A. NetFlow analyzer
B. Bandwidth analyzer
C. Protocol analyzer
D. Spectrum analyzer

Answer: D

NEW QUESTION 18
A network administrator is installing a wireless network at aclient’s office. Which of the following IEEE 802.11 standards would be BEST to use for multiple
simultaneous client access?

A. CDMA

B. CSMA/CD
C. CSMA/CA
D. GSM

Answer: A

NEW QUESTION 19
Which of the following would need to be configured to ensure a device with a specific MAC address is always assigned the same IP address from DHCP?

A. Scope options

B. Reservation

C. Dynamic assignment
D. Exclusion

E. Static assignment

Answer: B

NEW QUESTION 22
Within the realm of network security, Zero Trust:

A. prevents attackers from moving laterally through a system.

B. allows a server to communicate with outside networks without a firewall.
C. block malicious software that is too new to be found in virus definitions.
D. stops infected files from being downloaded via websites.

Answer: C

NEW QUESTION 26
Which of the following connector types would have the MOST flexibility?

A. SFP
B. BNC
C.LC
D. RJ45

Answer: A

NEW QUESTION 31

A technician is searching for a device that is connected to the network and has the device’sphysical network address. Which of the following should the technician
review on the switch to locate the device’s network port?

A. IP route table

B. VLAN tag

C. MAC table

D. QoS tag

Answer: C

NEW QUESTION 32
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A network administrator wants to improve the security of the management console on the company's switches and ensure configuration changes made can be
correlated to the administrator who conformed them Which of the following should the network administrator implement?

A. Port security

B. Local authentication
C. TACACS+

D. Access control list

Answer: C

NEW QUESTION 34
Which of the following technologies allows traffic to be sent through two different ISPs to increase performance?

A. Fault tolerance
B. Quality of service
C. Load balancing
D. Port aggregation

Answer: A

NEW QUESTION 37
A new cabling certification is being requested every time a network technician rebuilds one end of a Cat 6 (vendor-certified)cable to create a crossover connection
that is used to connect switches. Which of the following would address this issue by allowing the use of the original cable?

A. CSMA/CD
B. LACP
C. PoE+
D. MDIX

Answer: D

NEW QUESTION 41
Which of the following service models would MOST likely be used toreplace on-premises servers with a cloud solution?

A. PaaS
B. laaS
C. SaaS
D. Disaster recovery as a Service (DRaaS)

Answer: B

NEW QUESTION 45
Given the following output:

Which of the following attacks is this MOST likely an example of?

A. ARP poisoning
B. VLAN hopping
C. Rogue access point
D. Amplified DoS

Answer: A

NEW QUESTION 47
A workstation is configured with the following network details:

Software on the workstation needs to send a query tothe local subnet broadcast address. To which of the following addresses should the software be configured to
send the query?

A.10.1.2.0
B.10.1.2.1
C.10.1.2.23
D. 10.1.2.255
E.10.1.2.31

Answer: E

NEW QUESTION 49
The network administrator is informed that a user's email password is frequently hacked by brute-force programs. Which of the following policies should the
network administrator implements to BEST mitigate this issue? (Choose two.)

A. Captive portal

B. Two-factor authentication
C. Complex passwords

D. Geofencing

E. Role-based access

F. Explicit deny
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Answer: BC

NEW QUESTION 54
A technician needs to configure a Linux computer for network monitoring. The technician has the following information:
Linux computer details:

Switch mirror port details:
After connecting the Linux computer to the mirror port on the switch, which of the following commands should the technician run on the Linux computer?

A. ifconfig ecthO promisc

B. ifconfig ethl up

C. ifconfig eth0 10.1.2.3

D. ifconfig ethl hw ether A1:B2:C3:D4:E5:F6

Answer: A

NEW QUESTION 55
A systems administrator needs to improve WiFi performance in a densely populated office tower and use the latest standard. There is a mix of devices that use 2.4
GHz and 5 GHz. Which of the followingshould the systems administrator select to meet this requirement?

A. 802.11ac
B. 802.11ax
C. 802.11g
D. 802.11n

Answer: B

NEW QUESTION 57
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